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Chapter 20 Guinea Pig: Anatomy, Physiology and Behavior.  pp.575-602
QUESTIONS:

1.
Androgen-dependent sebaceous glands are more prominent:


a.
in the peri-orbital region


b.
on the ventral mandible the mandible


c.
on the ventral abdomen


d.
around the anus and dorsum


2.
Which of the following is not the appropriate nomenclature for one of the 5 sets of vibrissae of the guinea pig:


a.
Supraorbital,


b.
Infra-orbital


c.
nasal


d.
maxillary

e.
buccal

f.
mental


3.
The location of the stylomastoid foramen in the temporal bone of the guinea pig is:
a.
caudal and dorsal to the external osseous auditory canal


b.
ventral and cranial to the external osseous auditory canal
 

c.
caudal and ventral to the external osseous auditory canal
 

d.
cranial and caudal to the external osseous auditory canal


4.
True or False: Both males and female Guinea pigs have a single pair of mammary nipples.
5.
The dental formula of the guinea pig is _________________.

6.
True or False:  Overgrowth of the upper premolar and molars can cause tongue entrapment due to the lateral offset of the from the lower premolars and molars

7.
The vertebral formula of the Guinea Pig is C=___, T=___, L=___, S=___, Ca=____.
8.
True or False: The guinea pig has an os penis.


9.
The gastric emptying time of the Guinea Pig is:


a.
20 minutes


b.
38 minutes
 

c.
90 minutes
 

d.
120 minutes

10.
GI transit time is:


a.
2 hours


b.
14 hours
 

c.
20 hours
 

d.
24 hours


11.
Guinea pigs lack this enzyme, preventing ascorbic acid synthesis ______________.
12.
True or False: Guinea Pig myocytes do not reach as strong a contractile force as rats.
13.
It is difficult to produce myocardial occlusion lesions in the heart of the guinea pig compared to other species due to:
a.
decreased coronary blood flow (both basal and peak)


b.
More collateral circulation of the coronary arteries
 

c.
A very high ischemic tolerance of myocardial cells 
 

d.
all of the above

e.
a and b


14.
The testicular artery typically arises directly from the ____________ in guinea pigs.
15.
The Thymus of the guinea pig is typically gone by:
a.
6 months


b.
9 months
 

c.
12 months
 

d.
15 months


16.
True or False:  Unlike Rabbits, Guinea pigs do not have heterophils. 

17.
Kurloff Cells are :
a.
the guinea pig equivalent to mast cells


b.
a unique mononuclear cell of guinea pigs
 

c.
found only in the lungs of guinea pigs
 

d.
are found only in the guinea pig placenta

18.
Kurloff cells:


a.
increase in pregnancy


b.
increase with increasing estrogens
 

c.
are not found in the fetus
 

d.
all of the above

19.
Strain 2 guinea pigs are a model for ______________ due to Kurloff cell activity. 
20.
True or False: Hypercholesterolemia in Guinea Pigs causes hemolytic anemia over cardiovascular lesions. 
21.
In regards to blood coagulation, Guinea Pigs have:


a.
a short PT compared to other lab species


b.
a long PPT compared to other species
 

c.
a long PT compared to other species
 

d.
a short PTT compared to other species


22.
The ECG of the Guinea pig:  
a.
is more similar to humans that mouse, rat or hamster


b.
is more differentiated from humans that mouse, rat or hamster
 

c.
does not maintain a noticeable ST segment
 

d.
does not allow for measurement of the QT interval

23.
A Langendorff preparation:
a.
involves studying the heart in-situ


b.
allows for maintenance of the vagal stimulation of the heart from the brain
c.
can be used in guinea pigs for examining ischemic shunts in the heart
d.
allows for ex-vivo ventricular repolarization studies of the heart
24.
True or False: Unlike the rabbit is not an obligate nose breather.
25.
Primary Bronchi extend form the trachea at the level of the ___ rib.

26.
Regarding cells of the lung, all of the following about Guinea pigs is true except:
a.
Do not have Brush cells
b.
have the highest number of goblet cells compared to other rodents 

c.
do not have submucosal glands 
d.
Clara cells line 75% of the bronchioles

27.
True or False:  Mast Cells of the Guinea Pig contain no Tryptase.
28.
Guinea pigs are a good model for Airway hyper-responsiveness due to: 
a.
Mechanoreceptors in the respiratory epithelium responding to stimulation
b.
Hyperpnea leading to bronchoconstriction  

c.
Sympathetic nerve stimulation leading to respiratory muscle relaxation
d.
All of the above

29. 
In Guinea pigs, airway sensitization and allergic responses are induced by which immunoglobulin? _________________
30.
True or False:  Guinea pigs are less sensitive to bronchoconstriction effects of acetylcholine than other species. 

31.
The kidney weight to body weight ratio of the (male or female) is greater.

32.
The urinary bladder of the guinea-pig:
a.
has twice the number of smooth muscle cells compared to other species
b.
is relatively avascular compared to other species
c.
lacks a trigone region
 

d.
has little association with intramural ganglia compared with other species

33.
The body of the epididymis lies on the : 


a.
dorso-lateral surface of the testicle


b.
ventro-lateral surface of the testicle
 

c.
ventral surface of the testicle
 

d.
dorsal surface of the testicle

34.
True or False:  The glans of the Guinea pig penis has spines.
35.
The intromittent sac of the Guinea pig penis everts to present 2 _______ _________.
36.
The os penis of the Guinea pig:
a.
is absent 
b.
is present in the length of the glans
c.
is present only near the shaft
d.
runs the length of the penis allowing for fibroelastic protrusion
37.
Male Guinea Pigs are sexually mature at:
a.
20 days of age
b.
50 days of age
 

c.
70 days of age
 

d.
120 days of age

38.
Sperm analysis is difficult in guinea pigs due to ____________ formation. 

39.
True or False: The female guinea pig has a vaginal closure membrane that opens at estrus, gestation and parturition.
40.
The estrus cycle in guinea pigs is comprised of (with approx. durations)
a.
proestrus (8 -11 hrs), estrus (1-1.5 d), Metestrus (3 d), Diestrus (11-12 d)
b.
proestrus (1-1.5 d), estrus (8-11 hrs), Diestrus (13-15 d)
c.
proestrus (2-3 d), estrus (1-1.5 d), Metestrus (3 d), Diestrus (16-18 d)
d.
proestrus (1-1.5 d), estrus (8-11 hrs), Metestrus (3 d), Diestrus (11-12 d)
41.
Gestation in Guinea pigs is approximately _________ days and they ____ (do or do not) experience post-partum estrus.

42.
The pubic symphysis of a gestating guinea pig will:


a.
begin to dissolve by day 13, complete by day 60

b.
begin to dissolve by day 40, complete by day 60


c.
begin to dissolve by day 30, complete by day 40


d.
begin to dissolve by day 13, complete by day 40

43.
True or False: Regarding the respiratory control centers in the Guinea Pig medulla, the Dorsal Respiratory Group and the Ventral Respiratory Group lie immediately dorsal to the tractus solitarius differentiating them from rats and cats. 

44.
Rodents can emit and detect acoustic signals between:


a.
2 and 220 kHz


b.
22 and 85 kHz


c.
85 and 220 kHz


d.
2 and 22 kHz

45.
The movement of the ear pinnae backward in response to sounds is referred to as the _____________________________.

46.
All of the following refer to cells in the taste buds of guinea pigs except:


a.
Type I


b.
Type II


c.
Type III


d.
Type IV


e.
Basal

47.
True or False:  Guinea pigs have dichromatic vision.

48.
Guinea Pig vibrissae can have a sensitivity of :

a.
1 centimeter


b.
1 millimeter


c.
9 millimeters


d.
90 micrometers

49.
True or False:  Guinea pigs display social grooming.

50.
True or False:  Young males require social interaction to diminish later aggression. 

51.
True or False:  Guinea pigs build extensive nests if given the opportunity for nesting materials. 

52.
Under unstable environmental colony conditions guinea pigs:


a.
the sex ratios of the pups will remain unchanged


b.
the sex ratios of the pus will become male based


c.
the sex ratios of the pups will become female based

53.
As they are thigmotactic, guinea pigs will avoid ________________.

ANSWERS:

1. 
d
2. 
d
3. 
a
4.
True

5.
I 1/1, C 0/0, P 1/1, M 1/1
6.
False – overgrowth of lower premolars and molars can do so
7.
C=7, T=13-14, L=6, S=2-3, Ca=4-6

8.
True

9.
d

10.
c

11.
L-gulonolactone oxidase

12.
True

13.
e

14.
aorta

15.
c

16.
False

17.
b

18.
d

19.
L2C leukemia

20.
True

21.
c

22.
a

23.
d

24.
False

25.
3rd
26.
c

27.
True

28.
d

29.
IgI
30.
False

31.
Male

32.
c

33.
a

34.
True

35.
Horney styles

36.
b

37.
c

38.
rouleau
39.
True

40.
d

41.
66-72 days, and they do experience post-partum estrus

42.
d

43.
False, they are ventral to the tractus solitarius

44.
b

45.
Preyer Reflex

46.
d

47.
True

48.
d

49.
False

50.
True

51.
False

52.
c

53.
open spaces
